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PART A — (10  1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. ————— ÷Põm£õhõÚx, Á¸©õÚ¨ £QºÂÀ 

EÒÍ ]UP¼øÚ ÂÍUP •Ø£mh •uÀ 

÷Põm£õhõS®.  

 (A) ›UPõº÷hõÂß (B) PõÀhõ›ß 

 (C) ©õºUêß  (D) îUêß 

 ————— theory took the first attempt to explain 
the problem of income distribution.  

 (a) Ricardian  (b) Kaldor 

 (c) Marxian  (d) Hicksion 
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2. ©õºUêß Á¸©õÚ¨ £QºÄ ÷Põm£õk ————— 

\õº¢xÒÍx. 

 (A) ©v¨¦U ÷Põm£õmiøÚ 

 (B) ö£õx ©v¨¦U ÷Põm£õmiøÚ 

 (C) EøÇ¨¦ ©v¨¦U ÷Põm£õmiøÚ 

 (D) ‰»uÚ ©v¨¦ ÷Põm£õmiøÚ 

 Marxian theory of income distribution is based on 
—————. 

 (a) theory of value 

 (b) general theory of value 

 (c) labour theory of value 

 (d) capital theory of value 

3. Rßêß TØÖ¨£i, •u½k ————— 

{ºn°UP¨£kQÓx. 

 (A) ÷u]¯ Á¸©õÚzuõÀ 

 (B) Ámi°ÚõÀ 

 (C) CÖv{ø» ‰»uÚ BUPzvÓÚõÀ 

 (D) Á¸©õÚzuõÀ 

 According to Keynes, investment is determined by 

 (a) national income 

 (b) interest 

 (c) marginal efficiency of capital 

 (d) income 
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4. ußÝøh¯ ö£õxU ÷Põm£õmiÀ, Rßì  

————— •u½miøÚ ©mk® P¸xQßÓõº. 

 (A) ysh¨£mh (B) {Pμ 

 (C) ö©õzu  (D) ußÛaø\ 

 In his General Theory, Keynes considered  
—————, as the only investment. 

 (a) induced  (b) net 

 (c) gross   (d) autonomous 

5. •u½mk ö£¸UQ P¸zuõÚx ————— 

ÂÍUP¨£mhx. 

 (A) RßêÚõÀ (B) ©õºå¼ÚõÀ 

 (C) ›UPõº÷hõÁõÀ (D) PõÛÚõÀ 

 The concept of investment multiplier was 
explained by —————. 

 (a) Keynes  (b) Marshall 

 (c) Ricardo  (d) Khan 

6. ÂøÍÄÒÍ ÷uøÁ —————BÀ 

{ºn°UP¨£kQÓx.  

 (A) Á¸©õÚzvÚõÀ (B) öuõS ÷uøÁ 

 (C) öuõS AÎ¨¦ (D) (B) ©ØÖ® (C) 

 Effective demand was determined by —————. 

 (a) income  (b) aggregate demand 

 (c) aggregate supply (d) both (b) and (c) 
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7. ‰»uÚ® GßÓ ¦zuPzvß B]›¯º ¯õº? 

 (A) ©õºUì  (B) Rßì 

 (C) Bh®ìªz (D) ¤S 

 Who is the author of the book capital? 

 (a) Marx   (b) Keynes 

 (c) Adam smith (d) Pigou 

8. J¸ •u»õÎzxÁ \‰P©õÚx ————— 

ÁS¨¦PÍõP ¤›UP¨£kQÓx. 

 (A) Cμsk  (B) ‰ßÖ 

 (C) |õßS  (D) I¢x 

 A capitalistic society is divided into ————— 
classes. 

 (a) two   (b) three 

 (c) four   (d) five 

9. £nÂ¯À öPõÒøP ————— Á[Q°ÚõÀ 

ÁiÁø©UP¨£kQÓx. 

 (A) ÁoP  (B) TmkÓÄ 

 (C) ø©¯   (D) öuõÈØ\õø» 

 Monetary policy was formulated by ————— 
bank. 

 (a) commercial (b) co-operative 

 (c) central  (d) industrial  

[P.T.O.]
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10. Á›ÂvzuÀ ©ØÖ® ö£õxUPhÝhß öuõhº¦øh¯ 

öPõÒøP ————— öPõÒøP GÚ 

AøÇUP¨£kQÓx.  

 (A) £nU   (B) {vU 

 (C) ÁmiU  (D) Á¸©õÚU 

 The policy related with taxation and public debt is 
called as ————— policy. 

 (a) monetary  (b) fiscal 

 (c) interest  (d) income 

PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 250 words. 

11. (A) ›UPõº÷hõÂß Á¸©õÚ¨ £QºÄ ÷Põm£õmiß 

\õμzvøÚz u¸P. 

  Give the essence of Ricardian theory of 
income distribution. 

Or 

 (B) G¨¤ßÚo°À ©õºUêß Á¸©õÚ¨ £QºÄ 

÷Põm£õhõÚx \õh¨£kQÓx? 

  On what grounds is the Marxian theory of 
distribution criticised? 

12. (A) •u½miß £À÷ÁÖ ÁøPPÒ ¯õøÁ?  

  What are the different types of investment? 

Or 
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 (B) ‰»uÚ CÖv{ø» BUPzvÓß – J¸ SÔ¨¦ 

GÊxP. 

  Write a note on marginal efficiency of 
capital. 

13. (A) SøÓ ÷Áø»{ø»a \©{ø» – ÂÍUSP. 

  Explain under employment equilibrium. 

Or 

 (B) £nÃUP CøhöÁÎ GßÓ P¸zvøÚ ÂÍUSP. 

  Explain the concept of inflatinary gap. 

14. (A) ©õºUêß TØÖ¨£i, •u»õÎzxÁzvß 

]Ó¨¤¯À¦PÒ ¯õøÁ? 

  What according to Marx, are the features of 
capitalism? 

Or 

 (B) E£› ©v¨¦U ÷Põm£õk – J¸ SÔ¨¦ GÊxP. 

  Write a note on surplus value theory. 

15. (A) £nUöPõÒøP°ß P¸ÂPÒ ¯õøÁ? 

  What are the instruments of monetary policy? 

Or 

 (B) {vU öPõÒøP – ÂÍUSP. 

  Explain – Fiscal Policy.  
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PART C — (5  8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 600 words. 

16. (A) ©õºUêß Á¸©õÚ¨ £QºÄ ÷Põm£õmiøÚ 

öuÎÁõP ÂÍUSP. 

  Explain clearly Marxian theory of income 
distribution. 

Or 

 (B) PõÀhõ›ß £QºÄ ÷Põm£õmiøÚ B´P. 

  Analyse the Kaldor’s theory of distribution. 

17. (A) •u½miß AÍÂøÚ {ºn°UQßÓ PõμoPÒ 

¯õøÁ? 

  What are the factors that determine volume 
of investment? 

Or 

 (B) CÖv{ø» ‰»uÚ BUPzvÓøÚ²®, CÖv{ø» 

•u½mk BUPzvÓøÚ²® ÷ÁÖ£kzxP. 

  Differentiate marginal efficiency of capital 
and marginal efficiency of investment. 

18. (A) B¯zuz ÷uøÁ GßÓ P¸zvøÚ ÂÍUSP. 

  Explain the concept of effective demand. 

Or 
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 (B) Rßê¯ ö£õ¸Î¯¼ß Snõv¯[PøÍ 

ÂÍUSP. 

   Explain the characteristics of Keynesian 
economics. 

19. (A) ©õºUêß EøÇ¨¦ ©v¨¦U ÷Põm£õmiøÚ 

©v¨¤kP. 

  Evaluate Marxian Labour theory of value. 

Or 

 (B) ©õºUê¯ ö£õ¸ÍõuõμzvøÚ ö\ÆÂ¯À 

ö£õ¸Íõuõμzxhß J¨¤kP. 

  Compare Marxian economics with classical 
economics. 

20. (A) £nÂ¯À öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

  What are the objectives of Monetary Policy? 

Or 

 (B) {vU öPõÒøP°ß Áøμ¯øÓPøÍ ÂÍUSP. 

  Explain the limitations of Fiscal Policy. 

 

—————— 


